Greenhouse and Landscape Worksheet 12 (refer to worksheet 5 for examples)


Homework Problems 
1. For a 25 pound bag of 18-9-13 fertilizer, how many pounds of nitrogen, phosphate and potash are there? How many pounds of filler are there? 

2. A bag of fertilizer at Home Depot is labeled: 10-lb bag Scotts 18-21-6 Starter Fertilizer 12,000 Sq. Ft. $26.88 each. You just resodded your lawn and the salesman at Home Depot says this is the fertilizer your new lawn needs. Your lawn is 9800 sq. ft. and you plan on fertilizing it twice this year. How many bags should you buy for the year? 

3. In the past you fertilized your lawn every spring with 9 pounds of 32-8-8. You could only find 16-4-4 at the store this spring. How many pounds of 16-4-4 should you use on your lawn to get the same results? 

4. How much of a 4-3-4 organic fertilizer do you need to get the same amount of potash as if you were using 21 pounds of a 18-10-16 chemical fertilizer? 

5. A soil test on a large flowerbed comes back with the recommendation that it receive fertilizer in a 4-3-5 ratio. Your local home garden store only has the following fertilizers: 12-6-15, 12-9-15, 21-14-28, 20-15-25, 27-18-32 and 24-16-32. Which of these fertilizers could you buy? 

6. Knowing how much nitrogen is in a bag of fertilizer is fairly easy. The percentage is listed right on the bag. To determine the actual amount of the element phosphorus (P) that is in phosphate (P2O5) and how much the element potassium (K) is in potash (K2O) you have to do a little math. Use these formulas: 44% of P2O5 is phosphorous, and 83% of K2O is potassium. If you have a 25 lb bag of 12-21-19 fertilizer, how many pounds of nitrogen, phosphorus and potassium are there in the bag? 

7. The putting greens on a 18-hole golf course total 29,500 sq ft. The bags of fertilizer you typically buy are 50 pound bags of 15-4-14 . If you need to apply nitrogen to the greens at a rate a 1 pound of nitrogen per 1000 sq. ft., how many bags of this fertilizer should you buy?

8. A plot of land in South Florida is 150 ft wide and is 275 ft long. The 275 ft length lies along a canal that eventually drains into the Everglades. Knowing that runoff of phosphate-rich fertilizer is a major source of groundwater pollution, you decide to not spread the fertilizer within 15 ft of the water (your spreader has a deflector shield that keeps the spread pattern semicircular.) Using a 18-3-5 slow release fertilizer at a rate of 1 lb nitrogen per 1000 sq.ft., how many pounds of fertilizer do you need to do the job? 

9. A homeowner buys a bag of fertilizer with a label that says to apply 2.5 lb of the packaged product per 1000 square feet of surface area. If the area of the homeowner’s lawn to be treated totals 2325 square feet, how much product will the homeowner need to apply? 

10. A gardener applies a dry 15-14-10 fertilizer to her flowerbeds, using 1 pound of potash per 600 square feet, 2 times a year. If a 50 lb bag of this fertilizer costs $11.50, how much is this gardener paying a year for this application? 

